
Data from SAVANT is inconsistent making analysis 
difficult. 
 
November extraction had 52 vicals.  December draw 
had 42 vicals. 
 
We are not simply missing 10 records -- the yellow 
highlight shows the inconsistencies with missing files 
from both. 
 
The worse news is that the November data shows the 
MOBY gains improve the VIIRS performance (except 555 
nm which the green water cal shows as slope = 1). 
 
The December data shows the unity gains (g00) are 
better than MOBY gains for nLw matchups. 

DateNOVextraction Date 
2013-02-04T11:57:28+00:00 2013-02-04T11:57:28+00:00 
2013-02-28T10:56:37+00:00 2013-03-27T14:47:15+00:00 
2013-03-27T14:47:15+00:00 2013-05-13T11:12:40+00:00 
2013-04-06T10:24:48+00:00 2013-05-23T13:13:04+00:00 
2013-05-12T12:12:41+00:00 2013-05-26T12:40:47+00:00 
2013-05-13T11:12:40+00:00 2013-05-27T13:13:28+00:00 
2013-05-23T13:13:04+00:00 2013-05-28T09:41:01+00:00 
2013-05-26T12:40:47+00:00 2013-06-03T11:14:28+00:00 
2013-05-27T13:13:28+00:00 2013-06-07T11:42:29+00:00 
2013-05-28T09:41:01+00:00 2013-06-12T11:15:55+00:00 
2013-06-03T11:14:28+00:00 2013-06-14T11:16:23+00:00 
2013-06-07T11:42:29+00:00 2013-06-20T11:17:36+00:00 
2013-06-12T11:15:55+00:00 2013-06-21T10:45:14+00:00 
2013-06-14T11:16:23+00:00 2013-07-02T11:47:25+00:00 
2013-06-19T11:17:24+00:00 2013-07-02T12:19:58+00:00 
2013-06-20T11:17:36+00:00 2013-07-05T10:47:54+00:00 
2013-06-21T10:45:14+00:00 2013-07-06T10:48:03+00:00 
2013-06-29T12:19:23+00:00 2013-07-26T11:22:36+00:00 
2013-07-02T11:47:25+00:00 2013-07-30T11:50:00+00:00 
2013-07-05T10:47:54+00:00 2013-08-06T11:22:10+00:00 
2013-07-06T10:48:03+00:00 2013-08-13T11:48:51+00:00 
2013-07-09T12:48:29+00:00 2013-08-16T12:48:20+00:00 
2013-07-19T11:49:36+00:00 2013-08-16T13:27:00+00:00 
2013-07-22T10:49:49+00:00 2013-08-17T12:48:09+00:00 
2013-07-22T12:49:54+00:00 2013-08-18T12:47:59+00:00 
2013-07-25T11:49:57+00:00 2013-08-22T11:47:06+00:00 
2013-07-26T11:22:36+00:00 2013-08-22T12:19:44+00:00 
2013-07-30T11:50:00+00:00 2013-08-24T11:19:10+00:00 
2013-07-31T11:22:32+00:00 2013-08-26T11:18:56+00:00 
2013-08-06T11:22:10+00:00 2013-08-30T13:23:31+00:00 
2013-08-10T11:49:13+00:00 2013-09-02T12:22:33+00:00 
2013-08-11T12:49:10+00:00 2013-09-02T12:44:25+00:00 
2013-08-13T11:48:51+00:00 2013-09-04T10:21:55+00:00 
2013-08-16T12:48:20+00:00 2013-09-07T08:42:28+00:00 
2013-08-17T12:48:09+00:00 2013-09-07T12:21:01+00:00 
2013-08-18T12:47:59+00:00 2013-09-19T08:16:24+00:00 
2013-08-22T11:47:06+00:00 2013-10-11T11:30:35+00:00 
2013-08-24T11:19:10+00:00 2013-10-11T12:30:34+00:00 
2013-08-25T12:18:54+00:00 2013-10-24T11:27:53+00:00 
2013-08-26T11:18:56+00:00 2013-11-01T08:07:05+00:00 
2013-08-28T12:18:03+00:00 2013-11-01T08:07:05+00:00 
2013-08-30T13:23:31+00:00 
2013-09-02T12:22:33+00:00 
2013-09-05T13:21:41+00:00 
2013-09-06T14:21:16+00:00 
2013-09-07T08:42:28+00:00 
2013-09-19T08:16:24+00:00 
2013-10-11T11:30:35+00:00 
2013-10-24T11:27:53+00:00 
2013-11-01T08:07:05+00:00 
2013-11-01T08:07:05+00:00 
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y = 1.0787x - 0.0493 
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I’d like to suggest that we are w/in STDEV when looking at appropriate time, but need 
MOBY data for comparisons.  MOBY vicals currently only show n = 19 for CY 2013 -- 
working on it.  Seems to be some kind of handshaking issue /b/ APS and SAVANT. 


